Vs[TeV] Mu[GeV] o[pb] d(theory) d(scale) J(EWK) 6§(t,b,c) 6(1/m¢) O6(PDF +as) §(PDF) d(as) 0(PDF — TH)

7.0 120.00 1821 33% Wei%  £1.00 Tz
7.0 12200 17.61 iy Iéféé% ilbOZﬁ E'gg? E'ggg ;g;ggg ﬁgg% E’Eg% fys
7.0 12400 17.03 *¥30y  +020y ' 0% 0% iy, HHo T8 oo
. 800 % 2%  £1.00%  £1.00% +1.00% TI55% T e
7.0 12460 16.87 T2y 02y 0% iy, HETOEET (gt
. 2% TO0%  £1.00%  £1.00% +1.00% TI55% T e
7.0 124.80 16.81 Ty 02y 0% iy, HHG T8 oo
. 5% T020%  £1.00%  £1.00% +1.00% TI55% T e
7.0 125.00 1676 T32g 402 1 0% o0% ity HBE B85 Loon
7.0 12500 1673 Ty 1;22-'2%0/2 11.00% E.gg? E'gg? 15%8? E%? Y K
7.0 12520 16.70 13289 +038 ' 99% 0% iy HBY SEBE Tosen
. T2 % 02805 +1.00%  +0.99%  +1.00% T250% i B
7.0 12530 16.67 o9 t028g 0% iy, HEG B Loson
. 2o 02805 +£1.00%  +0.99%  +£1.00% T255% i e
7.0 125.38 16.65 T3y +0s o0% Tisty, HEE SEBE Tosen
: % TOB%  £1.00%  £0.99%  +£1.00%  T259% B B
7.0 12560 1659 Ty, D 0% By o TG Loson
. e % TO28%  £1.00%  +0.99%  +1.00% T355% s e
7.0 126.00 16.48 F327% +0.28 00% Tisty, HBG i3 Loson
. 2% TO28%  £1.00%  +0.99%  +1.00% T355% T R
7.0 128.00 1596 Tzl 0T 0% iy, HHo Ty Lose
. 820 % T2 % 4£1.00%  +£0.97% +1.00% T355% T g
7.0 130.00 1546 T3229 02 4y 00% 3 e BE Lot
222 2% 00%  +0.96% +£1.00% t255% TI% TTE% +0.87%
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Vs [TeV] u[GeV] o [pb] 5gs§ale) S(EWK) §(t,b,c) 0%>(ms) &(theory) O8(PDF+a,) 6(PDF)  6(w) 6(PDF
7.0 120.00 1821 T937%  £1.00% +1.04% +0.20% 259% ARSI TiT% 7t ( —
7.0 122.00 17.61 T0%%9%  £1.00%  +£1.02% +0.18% Wity iy eyl H0.92%
7.0 124.00  17.03 *06%,  £1.00%  +1.00%  +0.17% iy iy HHg Hg Loson
7.0 124.60 16.86 10900  +£1.00%  +1.00%  +0.16% Wi, iy HHe TG oo
7.0 12480 16.81 10500, +£1.00%  +1.00%  +0.16% Wi, iy HHG Ty Loson
7.0 12500 1675 T020%  £1.00%  +1.00%  +0.16% Wity iy HHG Ty Loson
7.0 125.00 1673 T0%0%  +£1.00%  +1.00%  +0.16% Wity iy HEL TG Loson
7.0 125.20  16.70 059 41 ' aHy sy HBE 380 Losen
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7.0 12560 1659 OB  1100% +£099% 4016% Fiiig,  tisig HBE O BEC onn
7.0 126.00 1648 T050%  +1.00%  +0.99%  +0.16% Wiy iy HHo T Loson
7.0 128.00 1596 T0%6%  +1.00%  +0.97%  +0.17% Hlly, iy ﬁ-;gg’ ;;gg? gt
7.0 130.00 1546 T0%0%  +1.00% 40 ' TR ~3.3470 Tinof g% £0.88%
3.68 © 96%  £0.17%  Iy55% 15133 Tiro%  TR%  +0.87%



Vs[TeV] Mu[GeV] o[pb] d(theory) d(scale) J(EWK) 6§(t,b,c) 6(1/m¢) O6(PDF +as) §(PDF) d(as) 0(PDF — TH)

8.0 120.00 23.12 T331% O3 £1.00%  +1.00% +1.00% 297% Tiee%  TTR%  £0.97%
8.0 122.00 22.38 1329 03000 +1.00%  +0.98%  +1.00% TZI1% Tres%  TTR%  £0.96%
8.0 124.00 21.67 13209 02000 +1.00%  +0.97% +1.00% TZI°% Tres%  TTR%  £0.95%
8.0 124.60 21.46 13229 H0Bor +1.00%  +0.96% +1.00% TZI% Tres%  TTR%  £0.95%
8.0 124.80 21.39 *iZtyg HO2or 41.00%  +0.96% +1.00% T2I0% Tres%  TTR%  £0.95%
8.0 125.00 21.32 *Ztyg H02Bor +1.00%  +0.96% £1.00% T2I0% Tres%  TTR% £0.95%
8.0 125.09 21.29 *32g 02800 41.00%  +0.96% +£1.00% 2% Tres%  TTR%  £0.95%
8.0 125.20 21.26  324% +028%  +£1.00%  +0.96% +£1.00% 21%% Tre% TTR% +0.95%
8.0 12530 21.22 *+32lg +02%0r  £1.00%  4+0.96% +£1.00% T279% % TTR% +0.95%
8.0 125.38  21.20 3239 0289 £1.00%  +0.96% +£1.00% 27%% ;;22% 2% +£0.94%
8.0 125.60 21.12 3239 B +1.00% +0.95%  +1.00% TEI% Tres%  TT%  4£0.94%
8.0 126.00 2099 *323% 0B +1.00% +0.95%  +1.00% TZI0% Tres%  TTR%  £0.94%
8.0 128.00 20.34 3209 020 +1.00%  +0.94%  +1.00% TZI5% Tres%  TTR%  £0.93%
8.0 130.00 19.72 il 0o +1.00%  +0.93%  +1.00% TZI5% Tres%  TTH%  £0.92%
V5[TeV]  My[GeV] o[pb] d(scale) S(EWK) 6(t,b,c) &>(mi) d(theory) O(PDF +a;) 6(PDF)  6&(as) 0(PDF — TH)
8.0 120.00 23.10 T955%  +£1.00% +£1.00% +0.20% 2 75% % Tiee%  T13%  £0.97%
8.0 122.00 2236 T905%  £1.00%  +0.98% +0.18% T372% % Tres%  TTER%  £0.96%
8.0 124.00 21.66 T92°%  £1.00%  +£0.97% +0.16% T259% % Tres%  TTER%  £0.95%
8.0 124.60 21.45 T920%  £1.00%  +£0.96% +0.16% 5% % Tres%  TTER%  £0.95%
8.0 124.80 21.38  t92%%  4+1.00% +£0.96% +£0.16% 257 % % Tres%  TTER%  £0.95%
8.0 125.00 21.32  *92%%  +1.00% +£0.96% +£0.15% 257 % % Tres%  TTER%  £0.95%
8.0 125.09  21.29 *92%%  +1.00% £0.96% +£0.15% 257 % % Tres%  TTER%  £0.95%
8.0 125.20  21.25 T529%  4£1.00%  4£0.96% 4+0.15% +281% % Tres%  TTER%  £0.95%
8.0 125.30  21.22  T529%  4£1.00%  4£0.96% +0.15% +2%0% % Tres%  TTER%  £0.95%
8.0 12538 2119 1029 1100%  +£0.96% +£0.15% 20y t2Trop % TR%  £0.94%
8.0 125.60 21.12  *98%%  4+1.00%  £0.95% +0.15% 280% % T TTR%  +0.94%
8.0 126.00 20.98 T9%%  4+1.00% +0.95% +0.16% T2%5% % Tres%  TTR%  £0.94%
8.0 128.00 20.34 '9e0%  4+1.00%  +0.94% +0.16% T2%% 2% Tres%  TTR%  £0.93%
8.0 130.00 19.72 9%  £1.00%  +0.93% +0.17% T2%% 2% Ties%  TTR%  £0.92%



Vs[TeV] Mu[GeV] o[pb] d(theory) d(scale) J(EWK) 6§(t,b,c) 6(1/m¢) O6(PDF +as) §(PDF) d(as) 0(PDF — TH)

13.0 120.00 52.14 13009 O3 £1.00%  +0.88% +1.00% 1255% TIe%  TTR%  £1.19%
13.0 122.00 50.62 *3% 03000 +1.00%  +0.86% +1.00% TZ55% Tree%  TTR%  £1.18%
13.0 124.00 49.18 139 0200 +1.00%  +0.84%  +1.00% TZ51% Tree%  TTR%  £1.16%
13.0 124.60 48.77 iy H0Bor +1.00%  +0.84%  +1.00% TZ51% % TN%  £1.16%
13.0 124.80 48.63 T2y H0Bor 41.00%  +0.84%  +1.00% TZ51% Tree%  TTN% £1.16%
13.0 125.00 4849 *ii2% H02Bor +1.00%  +0.84%  +1.00% TZ51% % TTN% £1.16%
13.0 125.09 4843 *t3l2gg H0280r 41.00%  +0.84%  £1.00% F257% Tre%  TTN% £1.16%
13.0 125.20 48.35 T312% O2%  +£1.00%  +0.84%  +£1.00% 250% % TTN% £1.16%
13.0 125.30  48.29 *312% +028%  +£1.00%  +0.84% +£1.00% 251% % TTN% £1.16%
13.0 125.38 48.23 ¥y +028%  £1.00%  +0.84% £1.00% 251% % TN% £1.15%
13.0 125.60 48.08 T3l 2% +1.00%  +0.84%  +1.00% TE5I% E;gg% 2% +£1.15%
13.0 126.00 47.81 3% 02T +1.00%  +0.83%  +1.00% TZ51% % TN% £1.15%
13.0 128.00 46.49 *T35%% H020r +1.00%  +0.82%  +1.00% TZ5I% Trea%  TTN% £1.14%
13.0 130.00 4522 *t35%% 0B +1.00%  +0.81%  +1.00% TZ50% Trea%  TTN%  +£1.13%
V5[TeV] My [GeV] o[pb] d(scale) S(EWK) 6(t,b,c) &>(mi) d(theory) O(PDF +a;) 6(PDF)  6&(as) 0(PDF — TH)
13.0 120.00 52.02 T935%  £1.00% +0.87% +0.16% 353% 0% % TE%  £1.19%
13.0 122.00 50.54 T93%  +£1.00%  +0.86% +0.18% %% 2% Tree%  TTR%  £1.18%
13.0 124.00 49.11  T935%  £1.00%  +0.85% +0.16% 235% 5% % TTR%  £1.16%
13.0 124.60 48.70 T9N0%  4£1.00%  +0.84% +0.15% 0% 0% Tree%  TTR%  £1.16%
13.0 124.80 4856 9%  4£1.00%  +0.84% +0.15% 231% 0% Tree%  TTR%  £1.16%
13.0 125.00 48.42 FT9N0%  4£1.00% < +0.84% +0.14% 231% 5% Tre%  TTR%  £1.16%
13.0 125.09 48.36  T920%  4£1.00%  +0.84% +0.14% 231% 5% Tree%  TTR%  £1.16%
13.0 125.20  48.28 TS30%  4£1.00%  4£0.84% 4+0.14% tT20% 0% Tre%  TTR%  £1.16%
13.0 125.30  48.22  F90%  £1.00% < +0.84% +0.13% 3% 0% Tree%  TIR%  +1.16%
13.0 12538 48.16 10359 41.00%  +0.84% +0.14% 2339 +208y TLovgr  tRllg 41.15%
13.0 125.60 48.01 T955%  £1.00%  +£0.84% +0.14% 3 53:% 0% Tree%  TTR%  £1.15%
13.0 126.00 47.74 t9%%  4+1.00%  +0.83% +0.14% 3% 0% % TIa%  £1.15%
13.0 128.00 46.43 t9R%  +1.00% +0.82% +0.15% T232% 0% Tiea%  TTR%  +£1.14%
13.0 130.00 45.17 T93¥%  £1.00% +0.81% +0.16% T35.% T2 % Tiei%  TTa%  £1.13%



Vs[TeV] Mu[GeV] o[pb] d(theory) d(scale) J(EWK) 6§(t,b,c) 6(1/m¢) O6(PDF +as) §(PDF) d(as) 0(PDF — TH)

13.6 120.00 56.03 T315% O3 £1.00%  +0.85% +1.00% 1297% % TTR%  +£1.21%
13.6 122.00 54.40 *iloyg 03000 +1.00%  +0.84%  +1.00% TZ51% Tree%  TTN% £1.20%
13.6 124.00 52.87 iy 02800 +1.00%  +0.83%  +1.00% TZ51% Trea%  TTR%  £1.18%
13.6 124.60 5243 *illyg H02Bor  +1.00%  +0.83%  +1.00% TZ51% Trea%  TN% £1.18%
13.6 124.80 52.28 *illyg H0Bor 41.00%  +0.83%  +1.00% TZ51% Trea%  TTN%  £1.18%
13.6 125.00 52.13 *iiloyg H0¥or +1.00%  +0.83%  +1.00% T251% % TTN% £1.18%
13.6 125.09 52.07 *illg 102807 41.00%  +0.83% +£1.00% 257% % TTN%  £1.18%
13.6 125.20 5199 *+3llog +020r  4£1.00%  +0.83% +1.00% *251% % TTN%  £1.18%
13.6 125.30  51.92 F209% +0%%9%  +£1.00%  +0.83% +£1.00% 2% % TN%  £1.18%
13.6 125.38 51.86 T310% +0%%9%  +£1.00%  +0.83% +£1.00% 2% Ta% TTN% £1.18%
13.6 125.60 51.70 *T310% 2o +1.00%  +0.82%  +1.00% TE50% E;gz% 2% £1.17%
13.6 126.00 51.41 3% 02T +1.00%  +0.82%  +1.00% TZ50% % TN% £117%
13.6 128.00 50.00 *397% H02or +1.00%  +0.81%  +1.00% TZ50% Trea%  TTN%  £1.16%
13.6 130.00 48.65 *305% OB +1.00%  +0.80% +1.00% TZ55% Trea%  TTR%  +£1.15%
V5[TeV] My [GeV] o[pb] d(scale) S(EWK) 6(t,b,c) &>(mi) d(theory) O(PDF +a;) 6(PDF)  6&(as) 0(PDF — TH)
13.6 120.00 55.90 19355%  +£1.00%  +0.85% +0.15% 255% % % TTe%  +£1.21%
13.6 122.00 54.31 9%  £1.00%  +0.84% +0.19% 233% P25 % % TTR% £1.20%
13.6 124.00 5279 9%  £1.00%  +0.83% +0.16% 2 35% 5% Trea%  TTR%  £1.18%
13.6 124.60 52.35 T950%  £1.00%  +0.83% +0.15% 2% 0% Trea%  TTR%  £1.18%
13.6 124.80 5220 920%  £1.00%  +0.83% +0.14% 3% 5% % TTR%  £1.18%
13.6 125.00 52.06 T950%  £1.00%  +0.83% +0.14% 3% 5% % TTR%  £1.18%
13.6 125.09 51.99 T920%  4£1.00%  +0.83% +0.14% 3% 5% % TTR%  £1.18%
13.6 125.20  51.91 T539%  4£1.00%  40.83% 4+0.14% t232% 0% % TTR%  £1.18%
13.6 12530 51.84 10209, 4£1.00%  4£0.83% +£0.13% 1229 120y Traa%  TIg%  £1.18%
13.6 12538 5178 1030 4100%  +0.83% +0.13% 12229 t20ry Thtdg +2llg 41.18%
13.6 125.60 51.62 0900  41.00%  +0.83% +£0.14% 1229  t207g Thole 2l 41.17%
13.6 126.00 51.33 T93°%  +1.00% +0.82% +0.14% T23% 0% Tiea%  TTR%  £1.17%
13.6 128.00 49.94 t955%  4+1.00% +0.81% +0.14% 231 % 0% Tiea%  TTR% £1.16%
13.6 130.00 4860 T952%  +£1.00%  +0.80% +0.15% T331% T2 % Trea%  TTN% £1.15%



Vs[TeV] Mu[GeV] o[pb] d(theory) d(scale) J(EWK) 6§(t,b,c) 6(1/m¢) O6(PDF +as) §(PDF) d(as) 0(PDF — TH)

14.0 120.00 58.66 3% O3 £1.00%  +0.84% +1.00% 257% TIe%  TT%  +1.23%
14.0 122.00 56.97 *313% 03000 +1.00%  +0.83%  +1.00% TZ51% Tree%  TIN% £1.21%
14.0 124.00 55.38 *3L% 0290 +1.00%  +0.82% +1.00% TZ58% Trea%  TTR% £1.20%
14.0 124.60 54.91 T30 H0Bor +1.00%  +0.82%  +1.00% TZ58% % TTR% £1.19%
14.0 124.80 54.76 T3 H02Bor 41.00%  +0.82%  +1.00% T250% % TTN% £1.19%
14.0 125.00 54.60 *310% H0Bor 41.00%  +0.82%  +1.00% T25°% % TTN% £1.19%
14.0 125.09 54.53 F310 +0280r 41.00%  +0.82%  £1.00% 25%% % TTH%  £1.19%
14.0 125.20 5445 *+3109 +02or  4£1.00%  +0.82%  +£1.00% T25°% % TTR%  £1.19%
14.0 125.30  54.38 F219% 0289 +£1.00%  +0.82% +£1.00% 2% % TR%  £1.19%
14.0 125.38  54.32 T300% 0280 £1.00%  +0.82% +£1.00% 2% % TTR%  £1.19%
14.0 125.60 54.15 T300% 2oL +1.00%  +0.81%  +1.00% TE50% E;gz% T20%%  +£1.19%
14.0 126.00 53.85 1399% 2B +1.00%  +0.81%  +1.00% TZ50% Trea% % £1.19%
14.0 128.00 52.38 *T307T% 0200 +1.00%  +0.80% +1.00% TZ50% Trea%  TN% £117%
14.0 130.00 50.97 *3%% 0B +1.00%  +0.80% +1.00% TZ53% Trea%  TTH%  +£1.16%
V5[TeV] My [GeV] o[pb] d(scale) S(EWK) 6(t,b,c) &>(mi) d(theory) O(PDF +a;) 6(PDF)  6&(as) 0(PDF — TH)
14.0 120.00 5851 1935%  £1.00%  +0.84% +0.15% 255% % % TTa%  +£1.23%
14.0 122.00 56.87 T950%  +£1.00%  +0.83% +0.19% T2 58% T2 % % TTR% £1.21%
14.0 124.00 5529 T955%  +£1.00%  +0.82% +0.16% 2 31% 0% % TTR% £1.20%
14.0 124.60 54.82 T900%  £1.00%  +0.82% +0.15% 2 35% 0% % TTR%  £1.20%
14.0 124.80 54.67 T950%  4£1.00% < +0.82%  +0.14% 232% 5% % TTR% £1.19%
14.0 125.00 54.52  T950%  4£1.00%  +0.82%  +0.14% 1% 5% % TTR%  £1.19%
14.0 125.09 54.45 T950%  4£1.00% @ +0.82%  +0.14% 1% 5% % TTR%  £1.19%
14.0 125.20  54.37  TS35%  4£1.00%  4£0.82%  4+0.14% tT25L% 0% % TTR%  £1.19%
14.0 12530 54.20 TO%0op  £100% @ 4£0.82% +£0.13% 209 128y Traa% TIg% £1.19%
14.0 12538  54.23 1000 4100%  +0.82% +0.13% 12209 +20ry Thtdg +2llg 41.19%
14.0 125.60 54.06 19355%  +1.00%  +0.82% +0.13% T239% 12 0% Trea%  TRR% £1.19%
14.0 126.00 53.77 t935%  4+1.00%  +0.81% +0.14% T2 3N% 0% Trea% TR %  £1.19%
14.0 128.00 52.31 t93°%  4+1.00% +0.81% +0.14% T239% 120 % Tiea%  TTR% £1.17%
14.0 130.00 50.91 T93°%  £1.00%  +0.80% +0.15% T235% T2 % Tiei%  TTa%  £1.16%



